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QID : 201 - In the following question, select the related word from the given alternatives.

Book : Pages : : Continent : ?

e uy & fow e fowed & @ T wsg &1 gl

U® : U9 : : HETEIU : ?

Options:

1) Water
EG)

2) Forest
ST

3) Countries

4) Land

Correct Answer: Countries

Candidate Answer: Countries

QID : 202 - In the following question, select the related letters from the given alternatives.

JKLM : IIII:: PQRS: ?

oo wy & faw e fowed & @ e sl & g

JKLM : IIII: : PQRS: ?

Options:
1) PPPP

2) 0000
3)

4) O0PP

Correct Answer: OO00
Candidate Answer: 0000

QID : 203 - In the following question, select the related number from the given alternatives.

4:17::7:?

Frafafed uy o fau e el # ¥ deifa e &1 gul

4:17::7:?

Options:
1) 49

2) 50
3)51

4)52

Correct Answer: 50

Candidate Answer: 50

QID : 204 - In the following question, select the odd word pair from the given alternatives.

Frafofed vy & faw v foeed! & @ fawd weg @ &1 g
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Options:

1) Sad : Hopeful
Faly : HRIMAY

2) Happy : Ecstatic
SMfed : afad

3) High : Giant
a1 : fazma
4) Trail : Pathway
TIEE! : gyHnt

Correct Answer: Sad : Hopeful

REHEERCINIE R
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Candidate Answer: Sad : Hopeful

Jal : RIMAY

QID : 205 - In the following question, select the odd letters from the given alternatives.

e uy & fow e fowed & @ fawy siert o1 gful

Options:
1) FH)

2) LNQ
3) JLN

4) NPR
Correct Answer: LNQ
Candidate Answer: LNQ

QID : 206 - In the following question, select the odd number pair from the given alternatives.

fafoRad gy & U U fawed & 9 faww e gm & gl

Options:
1)11-121

2) 13- 169
3) 19 - 391

4) 21 - 441
Correct Answer: 19 — 391
Candidate Answer: 19 — 391

QID : 207 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Feeble

2. From

3. Floor

4. Foam

5. Fluorescent

faffed Weal &1 AP & 3 aTd HH & IR |

1. Feeble

2. From

3. Floor

4. Foam

5. Fluorescent

Options:
1) 13542

2) 15342
3) 13524

4) 15324
Correct Answer: 13542
Candidate Answer: 15342

QID : 208 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

AELM,?

T 3Ry foan mar g, o ¥ U U gw B 1 3 T fawedt § 9 9 udt fawen g, S o H B |

AELM,?
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Options:
1)P

2)Q
3)R

4)0
Correct Answer: Q
Candidate Answer: R

QID : 209 - In the following question, select the missing number from the given series.
1,3,6,11,18,?
frafafed uy & few 7 fiwed § ¥ g 8id 1d Sifm|

1,3,6,11,18,?

Options:
1) 27

2) 28
3)29

4) 31
Correct Answer: 29
Candidate Answer: 29

QID : 210 - Pointing towards a man, Ritika said "He is the son of my grandfather's only son". How is Ritika related to that man?

TF TG B 3R Yobd B gU AT 3 Fgl, "I8 TR gl F THHAE T3 &1 37 71" JfdwT 39 wafed ¥ iy uer wefid 82
Options:

1) Aunty

T

2) Sister

g5

3) Mother

AT

4) Wife

Telt

Correct Answer: Sister
CRE

Candidate Answer: Sister
CRE

QID : 211 - Among four books, Book1 is twice as heavy as Book 2. Book 3's weight is half of Book 2's weight. Book 4 is 60 grams more as compared to Book 2 but
60 grams less as compared Book 1. Which book is heaviest?

IR GID! H THP 1, Wzﬁaﬁw%lw3mwwz$wmanw%|w4mwwzaﬁwﬁeom&m%émw1&5‘1@?1?11?(
60 T B 1 I U T T U 27

Options:
1) Book 1
Qida 1
2) Book 2
g 2
3) Book 3
3
4) Book 4
gds 4
Correct Answer: Book 1
Qida 1
Candidate Answer: Book 1

gds 1

QID : 212 - In the following question, from the given alternative words, select the word which cannot be formed using the letters of the given word.
Improvement

faw e gy #, Fufafed o & 9 98 e g7 S ot U 2sE & SHaRT ST TN HR 8] aT off 9ol g

Improvement

Options:

1) Rope

2) Trim

3) Important

4) Prove
Correct Answer: Important
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Candidate Answer: Important

QID : 213 - In a certain code language, "MASTER" is written as "682145" and "STAMP" is written as "21869". How is "PASTE" written in that code language?

T fafIy FIs U §, "MASTER" &1 "682145" foraT WTdT § GuT "STAMP" &1 "21869" feRaT ST €1 39 IS HTW H "PASTE" & 9 YR forar Swm?
Options:
1) 82145

2) 98214
3) 69218

4) 95184
Correct Answer: 98214
Candidate Answer: [ NOT ANSWERED ]

QID : 214 - If "K" denotes "multiplied by", "M" denotes "subtracted from", "J" denotes "added to" and "L" denotes "divided by", then
44M24K56L14360="?
T "k 7 o o 2 "M @1 o g B, "7 o aref e 2 qur "L 7 anef rumT B, Y

44M24K56L143160 =7
Options:

1) 16

2)72

3)8

4) 140

Correct Answer: 8
Candidate Answer: 8

QID: 215 - If 27 (15) 33 and 41 (13) 53, then what is the value of 'A" in 26 (A) 35?
gfe 27 (15) 33 TUT 41 (13) 53 T, T 26 (A) 35 H, 'A' HT A T 8?

Options:

1) 16

2)13

3) 14

4) 11
Correct Answer: 16
Candidate Answer: 11

QID: 216 -
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

PafaiRa vy # Ry o faweut & & wy Ree
(?) & TS W A arell HEAT & FAw)

3 2 1 2 2 1
5 4 7 6 3 11
1 7 4 2 1 ?

Options:

1)2

2)4

3)6

4)8

Correct Answer: 4
Candidate Answer: [ NOT ANSWERED ]
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QID: 217 -

How many triangles are there in the given figure?

& a8 s o et Paager ¥

Options:

1) 28
2) 36
3) 40

4)48

Correct Answer: 36
Candidate Answer: [ NOT ANSWERED ]

QID : 218 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to

be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:

1. Some pens are pencils.
II. Some pens are erasers.

Conclusions:

1. Some pencils are erasers.
II. All erasers are pens.

i fou T vd® Uy o

fyifva R % R o I ey T T H3 & 3R W gfeawd €

DY:

1. $& O IRia &

L. $%

e

PERCTE

1. $8 IR IR B

11 ot TR 9 B

Options:

1) Only conclusion (I) follows.

Fad ey

(OREE

2) Only conclusion (II) follows.

Fad ey

() w&t g

3) Both conclusion follow.

CHEIK]

e Wt B

4) Neither conclusion (I) nor conclusion (II) follows.

Fa e (1) 7 & fsed (11) 9@ R

Correct Answer: Neither conclusion (I) nor conclusion (II) follows.
@ Frpy (1) 71 8 e (1) I B

Candidate Answer: Neither conclusion (I) nor conclusion (II) follows.

TN sy (1) 7 & P (1) TE 2
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QID:219-
Two positions of a cube are shown below. What will
come opposite to face containing ‘8’7

= T T & S JgEAw 9y W § ude
g % & fuda e W a7 o wde T
TAm?

Options:

1)0

2)6

3)BorB

Bare

4)B

Correct Answer: 8
Candidate Answer:

QID: 220 -
In the given figure, how many cardboard boxes are

not white?

& 7E el A e T ¥ R o e a8

&7
Cardboard / A
_h’
T e 4 e Box/fmm
,”12{5 4 ) Box /
5/ 9 71%4_Whitef¢rﬂw—=:
Options:
1)6
2)13
3)7
4)9

Correct Answer: 6
Candidate Answer: 7

QID: 221 -
Which answer figure will complete the pattern in the
guestion figure?

B @ 39T AFA UH WP & UAwT H QW
Ffr?

?

ZAEN
Z
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Options:
1)
O
2)
|
3)
_...éD
4)
|

Correct Answer:

|

Candidate Answer:

|

QID: 222-
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& a¢ 3 Al # @ 3w IR FphH & gEw
Bra & oy amgfa BfT &

]
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Options:

@

2)

<M

3)

4)

Correct Answer:

Candidate Answer: [ NOT ANSWERED ]

QID: 223 -
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

e Uy Fead # Emw wgEr e @
Azt Ted JUT Wield & aIg ag [l 39 HPia
s feas gam?

;"-\
. i
o AT
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Options:
1)

000

000

2)

3)

[=]+]

o0

4)

E)
o
o
%0000

Correct Answer:

[<]
(&)

=}
o0 OOO

Candidate Answer:

o
o
=}

000

QID: 224 -

If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

ofe o Z9uT FF AB T@T WX @ AW, o &
I9T HHadl A & Pl @ Hpla wF g Hr
e ufafass gefre

WO
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Options:

<

2)

WO

3)

%

4)

Correct Answer:
Candidate Answer:

7

QID : 225 -

A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the-given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these maltrices can
be represented first by its row and next by its column, for example, ‘E’ can
be represented by 23, 41, etc., and ‘P’ can berepresented by 56, 97, etc.
Similarly, you have to identify the set for the word “GREAT”.

U g hael Uh HEAT-HE gRT GO IRT ¥, ok s faweut # @
Bl ues & amar &) Weeut A Bu v dmaraes dewl & g ail
g geiw are §, otar B Ruwmm oY smegpt # {1 negp & waew 3R
UTeh 1 HEI 0 A4 ¢ AT WEgE 5T 9) 37 g ¥ UR HaW A
ugel 3 Gfeh 3N g F Taes Tear gwr qifar S d@war ¥ Senon
& fow ‘B # 23, 41, g ERT g1 S Wehar § TUT P’ @ 56, 97,
e arr g o mear ¥ W o @ UM uw A RU e
“GREAT @& foiw wag =+ uggEar ¥

Matrix-1 Matrix-Il
SR -l
0[1[2[3]4 B[6] 7|80
0O[E[R[GIL|O 5M[P|[S|T[A
1|G[L[E|O[R 6|P[S|TIA[M
2|R|O|L[E[G TITIM[A[S|P
3|[L[G|O|R]E 8|S[AM[P]T
4[0[E[R|G|L g|A|[T|PIM[S
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Options:
1) 10, 14, 00, 59, 97

2)31,33,41,67,76
3) 43, 01, 23, 95, 89

4) 24, 42, 11, 86, 95
Correct Answer: 43, 01, 23, 95, 89
Candidate Answer: 43, 01, 23, 95, 89

QID : 226 - Which of the following is called GDP Deflator?

Frofefad & @ o9 oS, suepifdeRe Hedrd 22
Options:
1) Ratio of nominal to real GDP

 IRafad SISt BT Srua

2) Ratio of nominal to real GNP

qRafde ST, ST U

3) Ratio of nominal to real CPI

e It dt.3nE. &1 Sgua

4) Ratio of real to nominal GNP
ST, BT U

Correct Answer: Ratio of nominal to real GDP

SARAAD F IRAAD . SLU. BT ST
Candidate Answer: [ NOT ANSWERED ]

QID : 227 - Which organisation monitors the banks in actually maintaining cash balance?

DI U TR TR I 7 [P 9 ara § T AT §HE §U &2
Options:

1) State Bank of India

YR ¥e dF

2) Reserve Bank of India

3) Grameen Bank of India
YRl arefior §6

4) None of these

3T A BI Tol

Correct Answer: Reserve Bank of India

Candidate Apswer: Reserve Bank of India

QID : 228 - Which of the following Country doesn't have a written Constitution?

frofafaa & 9 g 3w % o fofae Sty =dt 82
Options:

1) United Kingdom

gRcs fhren

2) Australia
sifecferan

3) L]nited States of America

Y I
4) Bangladesh

Correct Answer: United Kingdom

Candidate Answer: United Kingdom

QID : 229 - In the Indian Parliamentary System, 'Vote on Account' is valid for how many months (except the year of elections)?

YR e gl #, W1 R A B 3l fbda 7T o P T Bl @ (T & a9 B BS BR)?
Options:

1) 2 months

2

2) 3 months

3 WA

3) 6 months

6

4) 9 months

9 W

Correct Answer: 2 months

2 WgH

Candidate Answer: 6 months
6 A
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QID : 230 - Takshashila University was located between which two rivers?

aeran fayfaenea foe < Afeal & o9 fug ok
Options:

1) Indus and Jhelum

Ry o Frem

2) Jhelum and Ravi

F TUT G

3) Beas and Indus

Y U Ry

4) Satluj and. Indus

Fager aut Ry

Correct Answer: Indus and Jhelum

Ry qu Sem

Candidate Answer: [ NOT ANSWERED ]

QID : 231 - Who is the most prominent god of 'Rig Veda'?

F1de' B G U 3adl bIF 37
Options:
1.) Indra

L
2) Agni
3

3) Pashupati

4) Vishnu

Correct Answer: Indra
EEd
Candidate Answer: [ NOT ANSWERED ]

QID : 232 - Which Indian state has the largest share of the Wastelands in India?

HRA # SoR Y T Yol o1 fewqr iy ey &1 82
Options:
1) Gujarat

TSRTd

2) Andhra Pradesh

SHie TSR

3) Madhya Pradesh

0 U

4) Rajasthan

RIS

Correct Answer: Rajasthan
RERIE]

Candidate Answer: Rajasthan
REEIE]

QID : 233 - Which is the highest peak in Andaman and Nicobar islands?

UM auT FeeR o Iug & ged St At o 9t 82
Options:

1) Mount Koya

T T

2) Mount Diavolo

Ade fesrarar

3) Saddle Peak

Jsq At

4) Mount Thuiller
] B.a

Correct Answer: Saddle Peak

Capdidate Answer: Mount Koya
e BT

QID : 234 - How does a Unicellular Organism reproduce?

THHIRIBIT S HY T Bl 32
Options:
1) Cell division
DIRIBT U
2) Cell reproduction
'SEE
3) Cell synthesis
DHITIHT T

4) Eragmentation

Correct Answer: Cell division
fayre=
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Candidate Answer: Cell division
fqurem

QID : 235 - What is the full form of DNA?

LT o sifd wu @ 82
Options:
1) Diribo nucleic acid
3t
2) Di nucleic acid
)
3) Dual nitrogen acid
FOd ARCIoH 3
4) Deoxyribonucleic acid
T KIS
Correct Answer: Deoxyribonucleic acid
IK 3%
Candidate Answer: Deoxyribonucleic acid
T K

QID : 236 - Which among the following is/are female hormones?

(i) Estrogen
(ii) Progesterone
(iii) Testosterone

Ffifad & ¥ o9 9y/a 1 3 g1oH i & ury/or S/ 8787

(i) TS

(ii) TToRe=

(iii) TR

Options:

1) (i) and (iii)

(i) T (iii)

2) (i) and (ii)

(i) T (ii)

3) (i) and (iii)

(ii) T (i)

4) Only (iii)

Had (iii)

Correct Answer: (i) and (ii)
(i) T (i)

Candidate Answer: (i) and (ii)
(i) T (i)

QID : 237 - For which of the following game, players must have the knowledge of Pascal's law?

fafefed # @ by @d ¥ Rafsal & o9 URed & T8 &1 I ST 3o 8?2
Options:

1) Climbing

EEH

2). Parag!iding
3) Rafting
E aé

4) Scuba diving

TRl ST

Correct Answer: Scuba diving
Rl ST

Candidate Answer: Scuba diving

T STRAT

QID : 238 - What is the value of the Least Distance of Distinct vision (in cm) for a normal human being?

TH A= 798 & o qeuw = &t gaam g8 (@4 #) o e &2
Options:

1) 2.5

2) 25

3) 58

4) 60

Correct Answer: 25

Candidate Answer: 25

QID : 239 - What is the full form of ISDN?

7S Y. €T, BT ST U I 27

http://thepracticetest.in/cs_cglet1 _D/&Wdihk@ _ElﬂeMﬁH’ [lg) ;Pﬁ_p@m VEIE(MMTW&NWd £13p3062a T4 0205177171 2c90c3885¢ 13/28
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Options:
1) International Service Digital network

2) Indian Service Digital Network

: ey fefrea

3) Integrated Service Digital Network
: Il fEfrea Feadh

4) Internal Service Digital Network
Correct Answer: Integrated Service Digital Network

Candidate Answer: [ NOT ANSWERED ]

QID : 240 - Which among the following is used to treat Indigestion?
Frofoiaa o ¥ 59 vl & s & foe Sui fsar o 82

Options:
;) Antacid
2) Antiseptic
3) Analgesic
t_l) Antibiotic

Correct Answer: Antacid

Candidate Answer: Antacid

QID : 241 - Which of the following cannot be beaten into Sheets?

fFafifed & ¥ 5 91eR & MeR # uRafdd 78f far s gedn
Options:

1) Gold

I

2) Silver
3) Potassium

4) Aluminum
Correct Answer: Potassium

Candidate Answer: [ NOT ANSWERED ]

QID : 242 - Minamata disease is a nervous disorder caused by eating fish, polluted with

TR 30 U AT AR €, S J 9 Tl & a9 ¥ BT 3
Options:
1) Iron

2) Mercury
IRy

3) Lead
SRl

4) Nickel
[BE

Correct Answer: Mercury
URT

Candidate Answer: Mercury
ORI

QID : 243 - Mahila Police volunteer scheme to be implemented in all states of the country has been launched on pilot basis firstly in which state?

T F ot oot A Afgan g ot Ao & wrifaa & Sidid, Ui IR R gduuT 59 e & gE @1 82
Options:
1) Delhi

2) Gujrat

3) Haryana

4) Rajasthan
RERIE]

Correct Answer: Haryana

Candidate Answer: Rajasthan
RGEIE]
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QID : 244 - Who invented the Centigrade scale?

IS AT (W) BT SHTATHRS D &7
Options:
1) Anders Celsius

AT

2) Daniel Gabriel Fahrenheit
St Afsaa BRAERe

3) William Thomson

faferam wima=

4) Wright Brothers

NES

Correct Answer: Anders Celsius

Candidate Answer: [ NOT ANSWERED ]

QID: 245 -
Match the following.

IGEGICIECRECIRE: I RO i

Trophy/Cup / Y/ =a Sport/ @
1. lrani Trophy a. Football
ST Eihr Gearer
2. Santosh Trophy b. Cricket
TAT gy forcre
3. Azlan Shah Cup c. Hockey
ST Qg HT glehT
Options:
1) 1-b, 2-c, 3-a
2) 1-b, 2-a, 3-c
3) 1-a, 2-¢, 3-b

4) 1-a, 2-b, 3-c
Correct Answer: 1-b, 2-a, 3-c
Candidate Answer: 1-b, 2-3, 3-c

QID : 246 - Jallikattu practiced in Tamil Nadu is a part of which festival?

i § Sieelibge b TR 1 U foedl 82
Options:

1) Onam

|

2) Pongal

g

3) Natuanjali

4) Hampi

il

Correct Answer: Pongal

Candidate Answer: [ NOT ANSWERED ]

QID : 247 - Who among the following was NOT one of the recipients of Major Dhyan Chand Lifetime Achievement Award for the year 2016?

frofafaa & 9 1 9 2016 F TR @H T< AW <A URigHe 3faTS HT UTdhdl A8l 82
Options:
1) Rajendra Pralhad Shelke
REER R
2) Sylvanus Dung Dung
S
3) Sathi Geetha
et
4) Amit Kumar
ST FUR
Correct Answer: Amit Kumar
SfHd FUR
Candidate Answer: [ NOT ANSWERED ]

QID : 248 - Who authored the book titled 'Jinnah often came to our House', which won the 2016 The Hindu Prize?

2016 BT ¢ fig REBR Siae areht fbara ‘oaTg 3iftha 1 ¢ 3R 88T & AWH B 82
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Options:
1) Kiran Doshi
fop=ur

2) Salman Rushdie
T =

3) K. Vijay Kumar
. faog AR

4) Yasser Usman
[CRIC

Correct Answer: Kiran Doshi

fopon greft
Candidate Answer: Salman Rushdie
A TG

QID : 249 - With which country India has signed an agreement to renew the supply of Petroleum for a period of 5 years (i.e. till 2022)?

3T 3= & Ty URA 7 5 N (37T 2022 ) F o USiferam Bt 3y & wHeha @ AdiFigd B & e gweR B 82
Opti :

1) Nepal

BLIG

2) UAE.
Tgad 3RT R
3) Iran

4) Bhutan

Correct Answer: Nepal

Candidate Answer: Iran

QID : 250 - Which of the following neighbouring country of India is not a landlocked country?
fafafad & ¥ YR &1 9 91 USRI S Wi ¥ forT g <= et 82

Options:
1) Nepal
urd

2) Myanmar
AR
3) Bhutan

4) Afghanistan
ST

Correct Answer: Myanmar
AR

Candidate Answer: Afghanistan

QID : 251 - How many numbers are there from 300 to 700 which are divisible by 2, 3 and 7?

300 ¥ 700 T U fra-T Ta € S 2, 3 auT 7 ¥ fauifid gt 82
Options:

1)7

2)8

3)9

4)10

Correct Answer: 9

Candidate Answer: [ NOT ANSWERED ]

QID: 252 - Aand B do (3/5)th part of a work and the rest of the work is completed by C. If A, B and C take the same work for Rs 5000, then what is the share of C
(in Rs)?

ATUT B TS B T (3/5) T HIFT HRd & aUT AT B C F §RT T {3501 911 81 TS A, B 7T C 39 B 1 5000 . H A §, & ¢ o7 e (3. o) 7 €2
Options:
1) 3000

2) 2500
3) 2000

4) 1500
Correct Answer: 2000
Candidate Answer: [ NOT ANSWERED ]

QID : 253 - A solid cone of height 36 cm and radius of base 9 cm is melted to form a solid cylinder of radius 9 cm and height 9 cm. What percent of material is
wasted this process?

T 3 WP B! Hars 36 .41, quT 3neR o1 Bear 9 F.4. B, 3 fraare T 9 J.10. fiowr aur 9 3.1, S &1 T 319 S -1 SiaT 81 IR W & uaref &1
foram ufaera =9 gan g2
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Options:

1) 25

2)0

3)5

4) 10

Correct Answer: 25

Candidate Answer: [ NOT ANSWERED ]

QID : 254 - A dealer sells a machine having marked price as Rs 3840 at a discount of 20%. What is the selling price (in Rs) of the machine?

U faghar 3840 3. 3ifdhd Tew ATl Ud TR &1 20% B ge W I9d1 81 TR &1 fasa ge (3. §) |1 82
Options:
1) 3072

2) 3500
3) 4608

4) 3240
Correct Answer: 3072
Candidate Answer: 3072

QID : 255 - In what ratio tea at Rs 240/kg should be mixed with tea at Rs 280/kg so that on selling the mixture at Rs 324/kg there is a profit of 20%?

240 3. Ufd 5.3, &Y g &1 280 %. U .71, &t a1 & ry farg surd & fiyaman se for 59 fsor & 324 3. Ul 6.3, 1 998 TR 20% T Y 1R
Options:
1)1:1

2)1:2
3)1:3

4)1:4
Correct Answer: 1: 3
Candidate Answer: [ NOT ANSWERED ]

QID : 256 - The average age of Ram and Rahim is 18 years. The average age of Rahim and Ramesh is 25 years. The average age of Ram and Ramesh is 29 years.
What is the age (in years) of the eldest of the three?

I AT G BT ST SR 18 T 7| LT AT IO BT S 3G 25 T B | W qUT AW B 37T 3417 29 A9 31 < A F Yo 93 BT 31g (nt H) e 82
Options:

1)p 14

2)22

3)28

4)36

Correct Answer: 36

Candidate Answer: [ NOT ANSWERED ]

QID : 257 - Profit obtained on selling an article for Rs 540 is equal to the loss incurred on selling the article for Rs 370. If selling price is Rs. 910, then what is the
profit percentage?

540 %. T U a¥g & S TR YT A1 3 a¥g Bl 370 . & I WR U g1 & SR1eR g1 afe fassa g 910 3. 8, O Ay wfo=rd o1 82
Options:
1)
162
3
2)

33
3

3) 50

4) 100

Correct Answer: 100

Candidate Answer: [ NOT ANSWERED ]

QID : 258 - In an examination 65% students pass in history and 55% students pass in hindi. If 5% students failed in both the subjects, then what is the percentage
of students who have passed in both the subjects?

wuﬁ&nﬁéss% foremif sfosma & Siiof gu qur 559% fammf = & Sfivf gui afg 5% et = fawat & srhofl gu §, @ G fawat & S<iof 9 arat faenfifat &t
yfa=rd & 82

Options:

1) 15

2)20

3) 25

4) 30

Correct Answer: 25

Candidate Answer: [ NOT ANSWERED ]
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QID : 259 - Diameter of wheel of a cycle is 21 cm. The cyclist takes 45 minutes to reach a destination at a speed of 16.5 km/hr. How many revolutions will the
wheel make during the journey?

TS Wb & ufed o o 21 3.4, 1 b Tee 16.5 b, ufy der @) 1fq & U viden wiH de Ugen & 1Y 45 e a1 §1 aEn % SR ufgar fba TeeR
TTET?
Options:
1) 12325

2) 18750
3) 21000

4) 24350
Correct Answer: 18750
Candidate Answer: [ NOT ANSWERED ]

QID : 260 - A person invested a total sum of Rs 7900 in three different schemes of simple interest at 3%, 5% and 8% per annum. At the end of one year he got
same interest in all three schemes. What is the money (in Rs) invested at 3%?

TH KT 7900 ¥. Bt H MM B YR S B AP & 3%, 5% TUT 8% aTat - Arerrall H Fawr ooxar 81 T aff & 3id & I it Aierraft & TaM o T
B3| 3% BT IR W IYP gRT Ha Bt 718 AR (3. ) bt 22

Options:

1) 2900

2) 3500

3) 4000

4) 5600

Correct Answer: 4000
Candidate Answer: [ NOT ANSWERED ]

QID : 261 - If x + (1/x) = 2, then what is the value of x2! + (1/x1331)?

TR x + (1/x) = 2, A x2L + (1/x1331) &7 7 1 §m?
Options:

1)0

2)1

3)2

4) 4

Correct Answer: 2

Candidate Answer: 2

QID : 262 - If X3 —y3 = 81 and x — y = 3, then what is the value of x2 + y2?

g x3 -y3 = 81 AU x—y = 3, A x2 + y2 BT A FT GAI?
Options:

1) 18

2)21

3)27

4) 36

Correct Answer: 21

Candidate Answer: 18

QID: 263 -
If /5x—6 +/5x+6 =6, then what is the value of x?

afe JBx-6+-f6x+6=6, a x &1 AT FT &7

Options:
1)-4

2)0
3)2

4) 4
Correct Answer: 2
Candidate Answer: [ NOT ANSWERED ]
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QID : 264 -

If 2x+% = 2, then what is the value of
4 5
B e
X X

4 5
uﬁ2x+%=2:a’r 2[1] +[1] & AT

FT &7

Options:

1)1

2)2

3)4

4)8

Correct Answer: 8

Candidate Answer: [ NOT ANSWERED ]

QID : 265 - The side BC of AABC is produced to D. If ZACD = 114° and 2ABC= (1/2)4BAC, then what is the value (in degrees) of ZBAC?

f3YST ABC @Y YT BC I D deb S¢dal 7T 81 afe LACD = 114° YT LABC = (1/2)2BAC B, @ 2BAC &1 A (f&3h &) @ g
Options:

1) 36

2) 48

3) 76

4) 84

Correct Answer: 76

Candidate Answer: 76

QID : 266 - O is the center of the circle and two tangents are drawn from a point P to this circle at points A and B. If ZAOP = 50°, then what is the value (in
degrees) of 2APB?

O I &1 &% & U1 fig P ¥ 39 90 W 3l W YW@ fig A quT B R Wil 78 §1 afe 2A0P = 50° 8, @t 2APB &1 A (f&2ht &) = givme
Options:

1) 60

2) 80

3) 90

4) 100

Correct Answer: 80

Candidate Answer: [ NOT ANSWERED ]

QID : 267 - In APQR, PQ = PR = 18 cm, AB and AC are parallel to lines PR and PQ respectively. If A is the mid-point of QR, then what is the perimeter (in cm) of
quadrilateral ABPC?

APQR H PQ = PR = 18 .41, §, AB TUT AC HHRI: PR T PQ F THMIKR 81 Al A, QR &1 He fig B, & Igus ABPC &1 ufamg (J.41. &) T g
Options:

1)18

2) 28

3) 32

4)36

Correct Answer: 36

Candidate Answer: 36

QID : 268 - In APQR, PS and PT are bisectors of 2QPR and 2QPS respectively. If 2QPT = 30°, PT = 9 cm and TR = 15 c¢m, then what is the area (in cmz) of APTR
?

APQR T, PS TUT PT HH: QPR TUT 2QPS ¥ fgHToi® 1 afd 2QPT = 30°, PT = 9 A.1f. quT TR = 15 A.7f. §, f APTR &1 &rpa (3.41.2 ®) e g
Options:

1) 36

2) 54

3)72

4) 216

Correct Answer: 54

Candidate Answer: [ NOT ANSWERED ]

QID : 269 - What is the simplified value of [2/(cot A —tan A)]?

[2/(cot A — tan A)] BT TReligd A FT 2
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Options:
1) sin A cos A

2) tan 2A
3) tanZ A

4) sin A cos? A
Correct Answer: tan 2A
Candidate Answer: tan 2A

QID : 270 -
What is the simplified value of [°52¢A=1,
cosec A+ 1

cosec A1 o Tt = = &2
cosec A+1

Options:

1) cosec A
2)secA—-tan A
3) cosec 2A

4) tan A — cosec A
Correct Answer: sec A —tan A
Candidate Answer: [ NOT ANSWERED ]

QID : 271 - What is the simplified value of (sec* A — tan2 A) — (tan* A + sec? A)?

(sec* A - tan2 A) — (tan? A + sec2 A) FT IRHd A T 82
Options:
1)-1

2)-1/2
3)0

4)1
Correct Answer: 0
Candidate Answer: 0
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QID: 272-
The bar chart given below shows the sales (in ‘000 units)
of 4 mobile brands for 3 years.

& fer o guvs Ry # Aarsa gwst fr 3 gut H
ferefr (‘000 =TS #) @ RiTaT T F

UBrand 1 /smws1 OBrand 2 / 91vs 2
BBrand 3 /90 3 ®Brand 4 /90= 4
10 - 95
9 8.5
28 75 5 55
c E 7 - 6.5 [
= 6 6
s [ 6 T
SEh 4P
£S 4-
T
5 2
1 -
0 . .
2014 2015 2016
Year /9%

What is the percentage increase in number of mobile sold by Brand 2 from 2014 to 2015?

2014 § 2015 T SUS 2 & NaTsd 3! [t B T H fraa ufasid & 9fS g8 &2
Options:

1)8.33

2) 33.33

3)37.5

4)11.11

Correct Answer: 11.11
Candidate Answer: 11.11
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QID: 273 -
The bar chart given below shows the sales (in ‘000 units)
of 4 mobile brands for 3 years.

& fer o guvs Ry # Aarsa gwst fr 3 gut H
ferefr (‘000 =TS #) @ RiTaT T F

UBrand 1 /smws1 OBrand 2 / 91vs 2
BBrand 3 /90 3 ®Brand 4 /90= 4
10 - 95
9 8.5
28 75 5 55
c E 7 - 6.5 [
= 6 6
s [ 6 T
SEh 4P
£S 4-
T
5 2
1 -
0 . .
2014 2015 2016
Year /9%

What is the percentage increase in the total number of mobiles sold by these four brands from 2014 to 2016?

2014 ¥ 2016 T, IRI FUS & Fd AERA 3! ot 3 W & fovem vfasd ot 9fS g8 &2
Options:
1) 42.16

2) 38.63
3)32.43

4) 30.16
Correct Answer: 38.63
Candidate Answer: 38.63
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QID: 274 -
The bar chart given below shows the sales (in ‘000 units)
of 4 mobile brands for 3 years.

& fer o guvs Ry # Aarsa gwst fr 3 gut H
ferefr (‘000 =TS #) @ RiTaT T F

UBrand 1 /smws1 OBrand 2 / 91vs 2
BBrand 3 /90 3 ®Brand 4 /90= 4
10 - 95
9 8.5
28 75 5 55
c E 7 - 6.5 [
= 6 6
s [ 6 T
SEh 4P
£S 4-
T
5 2
1 -
0 . .
2014 2015 2016
Year /9%

In 2017 the sales of each brand increased by the same percentage as it did in the year 2016. What will be the approximate average sales (in units) of mobiles per
brand in year 2017?

2017 & udie §1Us 1 3! § S R A gfe 5% ¢ R = 9 I 2016 F gf g% o1 2017 , UR 1US ST AiaTge [ (3TS H) LT 1 gt
Options:
1) 9175

2) 8360
3) 9436

4) 9678
Correct Answer: 9175
Candidate Answer: 9678
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QID: 275 -

The bar chart given below shows the sales (in ‘000 units)
of 4 mobile brands for 3 years.

& fer o guvs Ry # Aarsa gwst fr 3 gut H
ferefr (‘000 =TS #) @ RiTaT T F

UBrand 1 /smws1 OBrand 2 / 91vs 2
BBrand 3 /90 3 ®Brand 4 /90= 4
10 - 95
9 8.5
28 75 5 55
c E 7 - 6.5 [
= 8 3]
s [ 6 T
S BBy 4
£S 4-
T
5 2
1 -
0 . .
2014 2015 2016
Year /9%

If for any year, the sales of a brand is more than average sales of these four brands in that year, then it gets a star. Which brand has the maximum stars?

Ife freht o & forelt oS Y faost 30 avf & g3 371 9RI U &t STNIaH et & SaTel B, 1 39 U Riar fen 9 1 e s1vs & ur wed ifdes Rar g
Options:

1) Brand 3

§TUS 3

2) Brand 3 and 4 both

SUS 3 qUT 4 1

3) Brand 4

§IIUS 4

4) All brands

it U

Correct Answer: Brand 4
§IIUS 4

Candidate Answer: Brand 4
§IIUS 4

QID : 276 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No error'.

I was taken with surprise (1)/ when I saw (2)/ the beautiful Taj Mahal. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 1

Candidate Answer: 1

QID : 277 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No error'.

I finished my household chores (1)/ before he reached (2)/ to my place after so long. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 1

Candidate Answer: [ NOT ANSWERED ]

QID : 278 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Being a doctor, he never shirks work.
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Options:

1) conscious

2) conscience

3) conscientious

4) consensus

Correct Answer: conscientious

Candidate Answer: conscience

QID : 279 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

The meeting was presided
Options:

1) over

2) upon

3) of

4)in

Correct Answer: over
Candidate Answer: [ NOT ANSWERED ]

by the Chairman.

QID : 280 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Vacillate
Options:

1) Continue
2) Playful

3) Conclusive
4) Irresolute

Correct Answer: Irresolute
Candidate Answer: [ NOT ANSWERED ]

QID : 281 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Indomitable
Options:

1) Unconquerable
2) Conflicting

3) Falsification

4) Intermittent

Correct Answer: Unconquerable
Candidate Answer: [ NOT ANSWERED ]

QID : 282 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Extenuate

Options:

1) Strengthen

2) Enfeeble

3) Abate

4) Acquit

Correct Answer: Strengthen
Candidate Answer: [ NOT ANSWERED ]

QID : 283 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Fecund
Options:

1) Prolific

2) Sterile

3) Necessitate
4) Turmoil

Correct Answer: Sterile
Candidate Answer: [ NOT ANSWERED ]

QID : 284 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/Phrase.

The thin end of the wedge
Options:

1) In strict vigilance

2) Start of harmful development
3) Be aware of the trick

4) Not a worthy possession

Correct Answer: Start of harmful development
Candidate Answer: [ NOT ANSWERED ]

QID : 285 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/Phrase.

To accept the gauntlet
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Options:

1) To accept challenge

2) To accept defeat

3) To accept what is written in fate

4) To be able to grasp the hidden meaning
Correct Answer: To accept challenge

Candidate Answer: To accept challenge

QID : 286 - Improve the bracketed part of the sentence.

The (reason of) her outburst in the party is yet unknown.
Options:

1) reason for

2) reason to

3) reason on

4) No improvement

Correct Answer: reason for

Candidate Answer: reason for

QID : 287 - Improve the bracketed part of the sentence.

I left my job because I did not (agree to) the company's appraisal policies.
Options:

1) agree about

2) agree with

3) agree on

4) No improvement

Correct Answer: agree with

Candidate Answer: agree on

QID : 288 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

Speaking with a stammer or lisp
Options:

1) Melliloquent

2) Dentiloguent

3) Fatiloquent

4) Stuttering

Correct Answer: Stuttering

Candidate Answer: [ NOT ANSWERED ]

QID : 289 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

Excessive desire to work
Options:

1) Ergomania

2) Idolomania

3) Islomania

4) Ethnomania

Correct Answer: Ergomania
Candidate Answer: Ergomania

QID : 290 - In the following question, four words are given out of which one word is incorrectly spelt. Find the incorrectly spelt word.
Options:

1) Pertinacious

2) Demarcation

3) Temperament

4) Sureptitious

Correct Answer: Sureptitious

Candidate Answer: Sureptitious

QID : 291 - In the following question, four words are given out of which one word is incorrectly spelt. Find the incorrectly spelt word.
Options:

1) Treachery

2) Refrendum

3) Suppression

4) Resemblance

Correct Answer: Refrendum
Candidate Answer: Suppression

QID : 292 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P: While the Soviet Government bought grain and other foreign consumer goods to be sold in domestic markets at heavily subsidized rates, Russia rejected
socialism.

Q: The oil industry was the prime target of a sweeping privatization drive launched after the break-up of the Soviet Union.

R: The Russian government has failed to do for its people even a fraction of what the Soviet Union, with twice the population, did with the revenue generated from
oil.

S: However, not all Russian have been rolling in oil wealth.
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Options:

1) QSRP

2) PRQS

3) RQSP

4) RSPQ

Correct Answer: QSRP

Candidate Answer: [ NOT ANSWERED ]

QID : 293 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P: The recent reduction in interest rates in the US and the injection of liquidity have resulted in investors seeking new avenues such as commodity markets, in view
of the turbulence in financial markets and the low returns in treasuries.

Q: The relatively easy liquidity and low interest rates, by themselves, make holding of inventories attractive and thus induce volatility in commodity markets.
R: The financialisation of commodity trade and current extraordinary conditions in global financial markets could have influenced the spurt in prices.

S: The weakening of the US dollar is also advanced as a reason for the recent volatility in commodity markets, including food items.

Options:

1) PRQS

2) SPQR

3) QSPR

4) RPQS

Correct Answer: RPQS

Candidate Answer: [ NOT ANSWERED ]

QID : 294 - In the following question, a sentence has been given in Active/Passive voice. Out of four alternatives suggested, select the one which best expresses
the same sentence in Passive/Active voice.

I hope that I shall win this dance competition.

Options:

1) It is hoped that the dance competition will be won by me.

2) Winning the dance competition is hoped by me.

3) Dance competition winning is my hope.

4) The dance competition is hoped to be won.

Correct Answer: It is hoped that the dance competition will be won by me.

Candidate Answer: It is hoped that the dance competition will be won by me.

QID : 295 - In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

He said, "Let it rain I have to go."”

Options:

1) He persisted that he did not care for the rain and he had to go.

2) He said that rain can't stop him to go out.

3) He exclaimed that let it rain but he will go.

4) He said that he can't go just because it is raining.

Correct Answer: He persisted that he did not care for the rain and he had to go.

Candidate Answer: [ NOT ANSWERED ]

QID : 296 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

India’s motto has been Vasudeva Kutumbakam or that the whole world is community. There are a of pillars upon which India’s policy of living in peace
with and peace among nations of the world rests. Policies of non-alignment, peaceful co-existence, economic and cultural cooperation disarmament and
peaceful of nuclear energy, of International disputes through negotiations and peaceful means are some of the salient features that give credence to

India’s commitment to world peace.

India's motto has been Vasudeva Kutumbakam or that the whole world is community.
Options:

1) one

2) distinct

3) essential

4) significant

Correct Answer: one

Candidate Answer: one

QID : 297 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

India’s motto has been Vasudeva Kutumbakam or that the whole world is community. There are a of pillars upon which India’s policy of living in peace
with and peace among nations of the world rests. Policies of non-alignment, peaceful co-existence, economic and cultural cooperation disarmament and
peaceful of nuclear energy, of International disputes through negotiations and peaceful means are some of the salient features that give credence to

India’s commitment to world peace.

There are a of pillars upon which India's policy
Options:

1) numerous

2) number

3) many

4) loop

Correct Answer: number

Candidate Answer: number
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QID : 298 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

India’s motto has been Vasudeva Kutumbakam or that the whole world is community. There are a of pillars upon which India’s policy of living in peace
with and peace among nations of the world rests. Policies of non-alignment, peaceful co-existence, economic and cultural cooperation disarmament and
peaceful of nuclear energy, of International disputes through negotiations and peaceful means are some of the salient features that give credence to

India’s commitment to world peace.

of living in peace with and peace among nations of the world rests.
Options:

1) disturbing

2) allowing

3) generating

4) promoting

Correct Answer: promoting

Candidate Answer: promoting

QID : 299 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

India’s motto has been Vasudeva Kutumbakam or that the whole world is community. There are a of pillars upon which India’s policy of living in peace
with and peace among nations of the world rests. Policies of non-alignment, peaceful co-existence, economic and cultural cooperation disarmament and
peaceful of nuclear energy, of International disputes through negotiations and peaceful means are some of the salient features that give credence to

India’s commitment to world peace.

economic and cultural cooperation disarmament and peaceful
Options:

1) uses

2) disruption

3) sources

4) negotiation

Correct Answer: uses

Candidate Answer: uses

of nuclear energy

QID : 300 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

India’s motto has been Vasudeva Kutumbakam or that the whole world is community. There are a of pillars upon which India’s policy of living in peace
with and peace among nations of the world rests. Policies of non-alignment, peaceful co-existence, economic and cultural cooperation disarmament and
peaceful of nuclear energy, of International disputes through negotiations and peaceful means are some of the salient features that give credence to

India’s commitment to world peace.

of International disputes through negotiations and peaceful means are some of the salient features
Options:
1) urge
2) requirement
3) settlement
4) enactment

Correct Answer: settlement
Candidate Answer: enactment
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